Article ID: 1000-8152(2010)02-0226-07

Synchronization of multi-chaotic systems via ring impulsive control

ZHANG Qun-li

(Department of Mathematics, Heze University, Heze Shandong 274015, China)

Abstract: The ring control approach to multi-chaotic systems synchronization based on the impulsive control theory is presented in this article. The operator differential mid-value theorem and the matrix operations are applied to them. With the help of Gronwall Inequality, the controller is thus obtained according to the jumped impulsive response. The global synchronization of multi-chaotic systems via ring impulsive control is derived. Finally, the simulation results of a typical time-delay chaotic Hopfield neural networks and chaotic Lorenz system demonstrate that the proposed approach is effective and feasible, and has strong robust performance.

Key words: ring impulsive control; chaos synchronization; Gronwall Inequality; time-delay Hopfield neural networks; Lorenz system

CLC number: TP273 Document code: A

环状脉冲控制下的多个混沌系统同步

张群力

(菏泽学院 数学系,山东 菏泽 274015)

摘要: 针对多个混沌系统同步问题, 提出了一种基于脉冲控制理论环状控制方法. 利用微分算子中值定理和矩阵 运算, 通过Gronwall不等式和跳跃的脉冲响应设计控制器, 从而推导出了环状脉冲控制下多个混沌系统全局同步. 典型的时滞混沌Hopfield神经网络和Lorenz混沌系统仿真结果表明, 该方法有效、可靠, 且具有强鲁棒性. 关键词: 环状脉冲控制; 混沌同步; Gronwall不等式; 时滞Hopfield神经网络; Lorenz系统

1 Introduction

Since its introduction by Pecora and Carrol^[1] in 1990, chaos synchronization of coupled systems is of great practical significance and has aroused great interest in recent years^[2~6]. However, most synchronization is realized between two chaotic systems. The problem for the chaotic synchronization control is proved to have many applications^[7~9]. In this paper, the synchronization problem for multi-chaotic systems will be considered by designing linear ring impulsive error control terms and using impulsive control theory with the help of the operator differential mid-value theorem and Gronwall Inequality.

This paper is organized as follows. Some preliminaries are given in Section 2. Section 3 deals with multichaos synchronization. The theoretical results and simulations are applied to typical time-delay chaotic Hopfield neural networks and Lorenz system. Finally, some concluding remarks are given in Section 4.

2 Preliminaries

First, we consider a class of recurrently delayed system, which is described by the following set of differential equations with delays^{$[10 \sim 15]$}:

$$\dot{x}_{i}(t) = -c_{i}x_{i}(t) + \sum_{j=1}^{n} a_{ij}f_{j}(x_{j}(t)) + \sum_{j=1}^{n} b_{ij}f_{j}(x_{j}(t-\tau_{ij})) + u_{i}, \ i = 1, 2, \cdots, n, \ (1)$$

or, in a compact form:

$$\dot{x}(t) = -Cx(t) + Af(x(t)) + Bf(x(t-\tau)) + U,$$
(2)

where $x(t) = (x_1(t), x_2(t), \dots, x_n(t))^{\mathrm{T}} \in \mathbb{R}^n$ is the state vector of the neural networks, $C = \mathrm{diag}\{c_1, c_2, \dots, c_n\}$ is a diagonal matrix, $A = (a_{ij})_{n \times n}$ is a

Received date: 2009-06-30; Revised date: 2009-09-09.

weight matrix, $B = (b_{ij})_{n \times n}$ is the delay weight matrix, $U = \text{diag}\{u_1, u_2, \cdots, u_n\}^{\mathrm{T}} \in \mathbb{R}^n$ is the input vector function, $\tau(r) = (\tau_{ij})$ with the delays $\tau_{ij} > 0(i, j = 1, 2, \cdots, n)$, and $f(x(t)) = (f_1(x_1(t)), f_2(x_2(t)), \cdots, f_n(x_n(t)))^{\mathrm{T}}$. The initial conditions of (1) are given by $x_i(t) = \phi_i(t) \in C([-\rho, 0], R)$ with $\rho = \max_{1 \leq i, j \leq n} \tau_{ij}, C([-\rho, 0], R)$ denotes the set of all continuous functions from $[-\rho, 0]$ to R.

The system with linear ring impulsive control terms is

$$\begin{cases} \dot{y}_{1}(t) = -Cy_{1}(t) + Af(y_{1}(t)) + \\ Bf(y_{1}(t-\tau)) + U, \\ t \neq t_{k}, \ k = 1, 2, 3, \cdots, \\ \Delta y_{1}(t) = B_{1k}(y_{2}(t) - y_{1}(t)), \ t = t_{k}, \\ y_{1}(t_{0}^{+}) = y_{10}, \\ \dot{y}_{2}(t) = -Cy_{2}(t) + Af(y_{2}(t)) + \\ Bf(y_{2}(t-\tau)) + U, \\ t \neq t_{k}, \ k = 1, 2, 3, \cdots, \\ \Delta y_{2}(t) = B_{2k}(y_{3}(t) - y_{2}(t)), \ t = t_{k}, \\ y_{2}(t_{0}^{+}) = y_{20}, \\ \vdots \\ \dot{y}_{n}(t) = -Cy_{n}(t) + Af(y_{n}(t)) + \\ Bf(y_{n}(t-\tau)) + U, \\ t \neq t_{k}, \ k = 1, 2, 3, \cdots, \\ \Delta y_{n}(t) = B_{1k}(y_{1}(t) - y_{n}(t)), \ t = t_{k}, \\ y_{n}(t_{0}^{+}) = y_{n0}, \end{cases}$$

$$(3)$$

where $y_i = (y_{i1}, y_{i2}, \dots, y_{in})^{\mathrm{T}} \in \mathbb{R}^n$ is the state vector of node $i, f : \mathbb{R}^n \to \mathbb{R}^n$ is a nonlinear vector function and f(0) = 0.

$$\begin{split} \dot{e}_{1}(t) &= -Ce_{1}(t) + A(f(y_{2}(t)) - f(y_{1}(t))) + \\ & B(f(y_{2}(t-\tau)) - f(y_{1}(t-\tau))), \\ & t \neq t_{k}, \ k = 1, 2, 3, \cdots, \\ \Delta e_{1}(t) &= B_{2k}e_{2}(t) - B_{1k}e_{1}(t), \ t = t_{k}, \\ e_{1}(t_{0}^{+}) &= e_{10}, \\ \dot{e}_{2}(t) &= -Ce_{2}(t) + A(f(y_{3}(t)) - f(y_{2}(t))) + \\ & B(f(y_{3}(t-\tau)) - f(y_{2}(t-\tau))), \\ & t \neq t_{k}, \ k = 1, 2, 3, \cdots, \\ \Delta e_{2}(t) &= B_{3k}e_{3}(t) - B_{2k}e_{2}(t), \ t = t_{k}, \\ e_{2}(t_{0}^{+}) &= e_{20}, \\ & \vdots \\ \dot{e}_{n}(t) &= -Ce_{n}(t) + A(f(y_{1}(t)) - f(y_{n}(t))) + \\ & B(f(y_{1}(t-\tau)) - f(y_{n}(t-\tau))), \\ & t \neq t_{k}, \ k = 1, 2, 3, \cdots, \\ \Delta e_{n}(t) &= B_{1k}e_{1}(t) - B_{nk}e_{n}(t), \ t = t_{k}, \\ e_{n}(t_{0}^{+}) &= e_{n0}. \end{split}$$

Where $e_1 = y_2 - y_1$, $e_2 = y_3 - y_2$, \cdots , $e_{n-1} = y_n - y_{n-1}$, $e_n = y_1 - y_n$.

Using the operator differential mid-value theorem^[16,17], we have

$$\begin{split} \dot{e}_{1}(t) &= \\ -Ce_{1}(t) + \\ A \int_{0}^{1} \frac{\partial f(\beta y_{2}(t) + (1-\beta)y_{1}(t))}{\partial y_{1}(t)} d\beta \cdot e_{1}(t) + \\ B \int_{0}^{1} \frac{\partial f(\beta y_{2}(t-\tau) + (1-\beta)y_{1}(t-\tau))}{\partial y_{1}(t-\tau)} d\beta \cdot \\ e_{1}(t-\tau), t \neq t_{k}, k = 1, 2, 3, \cdots, \\ \Delta e_{1}(t) &= B_{2k}e_{2}(t) - B_{1k}e_{1}(t), t = t_{k}, \\ e_{1}(t_{0}^{+}) &= e_{10}, \\ \dot{e}_{2}(t) &= \\ -Ce_{2}(t) + \\ A \int_{0}^{1} \frac{\partial f(\beta y_{3}(t) + (1-\beta)y_{2}(t))}{\partial y_{2}(t)} d\beta \cdot e_{2}(t) + \\ B \int_{0}^{1} \frac{\partial f(\beta y_{3}(t-\tau) + (1-\beta)y_{2}(t-\tau))}{\partial y_{2}(t-\tau)} d\beta \cdot \\ e_{2}(t-\tau), t \neq t_{k}, k = 1, 2, 3, \cdots, \\ \Delta e_{2}(t) &= B_{3k}e_{3}(t) - B_{2k}e_{2}(t), t = t_{k}, \\ e_{2}(t_{0}^{+}) &= e_{20}, \\ \vdots \\ \dot{e}_{n}(t) &= \\ -Ce_{n}(t) + \\ A \int_{0}^{1} \frac{\partial f(\beta y_{1}(t) + (1-\beta)y_{n}(t))}{\partial y_{n}(t)} d\beta \cdot e_{n}(t) + \\ B \int_{0}^{1} \frac{\partial f(\beta y_{1}(t-\tau) + (1-\beta)y_{n}(t-\tau))}{\partial y_{n}(t-\tau)} d\beta \cdot \\ e_{n}(t-\tau), t \neq t_{k}, k = 1, 2, 3, \cdots, \\ \Delta e_{n}(t) &= B_{1k}e_{1}(t) - B_{nk}e_{n}(t), t = t_{k}, \\ e_{n}(t_{0}^{+}) &= e_{n0}, \end{split}$$

where $\begin{aligned} \frac{\partial f(\beta y_2(t) + (1-\beta)y_1(t))}{\partial y_1(t)} &\text{ is the value which} \\ \frac{\partial f(x(t))}{\partial x(t)} &\text{ is on } \beta y_2(t) + (1-\beta)y_1(t). \\ &\text{Note} \\ P_1(t,\beta) &= \frac{\partial f(\beta y_2(t) + (1-\beta)y_1(t))}{\partial y_1(t)}, \\ P_2(t,\beta) &= \frac{\partial f(\beta y_3(t) + (1-\beta)y_2(t))}{\partial y_2(t)}, \\ &\vdots \\ P_n(t,\beta) &= \frac{\partial f(\beta y_1(t) + (1-\beta)y_n(t))}{\partial y_n(t)}, \\ Q_1(t,\beta) &= \frac{\partial f(\beta y_2(t-\tau) + (1-\beta)y_1(t-\tau))}{\partial y_1(t-\tau)}, \end{aligned}$

228 Control Theory & Applications $Q_2(t,\beta) = \frac{\partial f(\beta y_3(t-\tau) + (1-\beta)y_2(t-\tau))}{\partial y_2(t-\tau)},$ $Q_n(t,\beta) = \frac{\partial f(\beta y_1(t-\tau) + (1-\beta)y_n(t-\tau))}{\partial y_n(t-\tau)},$

then the error system (4) is rewritten:

$$\begin{cases} \dot{e}_{1}(t) = \int_{0}^{1} (-C + AP_{1}(t,\beta)) d\beta \cdot e_{1}(t) + \\ \int_{0}^{1} BQ_{1}(t,\beta) d\beta \cdot e_{1}(t-\tau), \\ t \neq t_{k}, k = 1, 2, 3, \cdots, \\ \Delta e_{1}(t) = B_{2k}e_{2}(t) - B_{1k}e_{1}(t), t = t_{k}, \\ e_{1}(t_{0}^{+}) = e_{10}, \\ \vdots \\ \dot{e}_{n}(t) = \int_{0}^{1} (-C + AP_{n}(t,\beta)) d\beta \cdot e_{n}(t) + \\ \int_{0}^{1} BQ_{n}(t,\beta) d\beta \cdot e_{n}(t-\tau), \\ t \neq t_{k}, k = 1, 2, 3, \cdots, \\ \Delta e_{n}(t) = B_{1k}e_{1}(t) - B_{nk}e_{n}(t), t = t_{k}, \\ e_{n}(t_{0}^{+}) = e_{n0}. \end{cases}$$
(5)

Let $e(t) = (e_1^{\mathrm{T}}(t), e_2^{\mathrm{T}}(t), \cdots, e_n^{\mathrm{T}}(t))^{\mathrm{T}}$, and differentiating $||e(t)||^2$ with respect to time along the solution of (5), we have the following result:

$$\begin{split} \frac{\mathrm{d} \|e(t)\|^2}{\mathrm{d}t} &= \\ \sum_{i=1}^n e_i^{\mathrm{T}}(t) \int_0^1 (-C + AP_i(t,\beta)) \mathrm{d}\beta \cdot e_i(t) + \\ \sum_{i=1}^n e_i^{\mathrm{T}}(t) \int_0^1 BQ_i(t,\beta) \mathrm{d}\beta \cdot e_i(t-\tau) + \\ \sum_{i=1}^n e_i^{\mathrm{T}}(t) \int_0^1 (-C + AP_i(t,\beta))^{\mathrm{T}} \mathrm{d}\beta \cdot e_i(t) + \\ \sum_{i=1}^n e_i^{\mathrm{T}}(t-\tau) \int_0^1 (BQ_i(t,\beta))^{\mathrm{T}} \mathrm{d}\beta \cdot e_i(t) = \\ \int_0^1 (e^{\mathrm{T}}(t) e^{\mathrm{T}}(t-\tau)) P(t,\beta) (e^{\mathrm{T}}(t) e^{\mathrm{T}}(t-\tau))^{\mathrm{T}} \mathrm{d}\beta, \end{split}$$

where

$$P(t,\beta) = \operatorname{diag}\{D_1(t,\beta), \cdots, D_n(t,\beta)\},\$$
$$D_i(t,\beta) = \begin{pmatrix} M_i(t,\beta) & BQ_i(t,\beta) \\ Q_i^{\mathrm{T}}(t,\beta)B^{\mathrm{T}} & 0 \end{pmatrix},\$$
$$M_i(t,\beta) = -C + AP_i(t,\beta) - C^{\mathrm{T}} + (AP_i(t,\beta))^{\mathrm{T}}.$$

Let $\lambda(t,\beta)$ be the largest eigenvalue of $P(t,\beta)$, and there is a positive constant α such that $\lambda(t,\beta) \leq \alpha$ for any $t \ge t_0$, then the conclusion is

$$\frac{\mathrm{d}\|e(t)\|^2}{\mathrm{d}t} \leqslant \int_0^1 \begin{pmatrix} e(t)\\ e(t-\tau) \end{pmatrix}^{\mathrm{T}} \alpha \begin{pmatrix} e(t)\\ e(t-\tau) \end{pmatrix} \mathrm{d}\beta =$$

$$\alpha \|e(t)\|^2 + \alpha \|e(t-\tau)\|^2.$$

For any
$$t \in (t_{k-1}, t_k]$$
,
 $\|e(t)\|^2 \leq \|e(t_{k-1}^+)\|^2 \exp\{\alpha(t - t_{k-1})\} + \int_{t_{k-1}}^t \exp\{\alpha(t - s)\}\alpha \|e(s - \tau)\|^2 ds$,

then

$$\begin{split} & \exp\{-\alpha(t-t_{k-1})\}\|e(t)\|^{2} \leqslant \\ & \|e(t_{k-1}^{+})\|^{2} + \int_{t_{k-1}}^{t} \{-\alpha(s-t_{k-1})\}\alpha\|e(s-\tau)\|^{2} \mathrm{d}s = \\ & \|e(t_{k-1}^{+})\|^{2} + \int_{t_{k-1}-\tau}^{t-\tau} \exp\{-\alpha(s+\tau-t_{k-1})\}\alpha\|e(s)\|^{2} \mathrm{d}s \end{split}$$

Using the Gronwall Inequality^[18], we obtain

$$\begin{cases} \exp\{-\alpha(t-t_{k-1})\} \|e(t)\|^{2} \leqslant \\ \|e(t_{k-1}^{+})\|^{2} \exp\{\alpha \exp\{-\alpha\tau\}(t-t_{k-1})\}, \\ \|e(t)\|^{2} \leqslant \\ \|e(t_{k-1}^{+})\|^{2} \exp\{\alpha(1+\exp\{-\alpha\tau\})(t-t_{k-1})\}, \\ t \in (t_{k-1}, t_{k}], \ k = 1, 2, \cdots. \end{cases}$$

$$(6)$$

Impulsive synchronization 3

Theorem 1 Suppose $0 < \omega_k = t_k - t_{k-1} <$ $\infty(k = 1, 2, \cdots), \gamma_k$ is the largest eigenvalue of $(I + B_k)^{\mathrm{T}}(I + B_k)$, the impulsive synchronization of Eq.(3) is achieved if there exists a constant $\theta > 1$ such that

$$\ln(\theta\gamma_k) + \alpha(1 + \exp\{-\alpha\tau\})\omega_k \leqslant 0, \ k = 1, 2, \cdots,$$
(7)

where

$$B_{k} = \begin{pmatrix} -B_{1k} & B_{2k} & 0 & \cdots & 0 \\ 0 & -B_{2k} & B_{3k} & \cdots & 0 \\ \vdots & \vdots & \vdots & \vdots \\ B_{1k} & 0 & 0 & \cdots & -B_{nk} \end{pmatrix}.$$

Proof we have known the conclusion (6). When $t = t_k$, we obtain

$$\|e(t_{k}^{+})\|^{2} = e^{\mathrm{T}}(t_{k})(I + B_{k})^{\mathrm{T}}(I + B_{k})e(t_{k}) \leqslant \gamma_{k}\|e(t_{k})\|^{2}.$$
(8)

Considering the conditions (6)(7) and (8), we have $||e(t)||^2 \leqslant$

$$\begin{aligned} &\gamma_1 \gamma_2 \cdots \gamma_k \| e(t_0^+) \|^2 \exp\{\mu(t - t_0)\} \leqslant \\ &\frac{1}{\theta^k} \| e(t_0^+) \|^2 \exp\{\mu(t - t_k)\}, \ t \in (t_k, t_{k+1}], \end{aligned}$$

where $\mu = \alpha(1 + \exp\{-\alpha\tau\})$. When $t \to \infty$, $||e(t)||^2 \rightarrow 0$, say $||e(t)|| \rightarrow 0$, and makes system (3) synchronization.

When B = 0 in system (2), system (5) becomes the following:

$$\begin{split} \dot{e}_{1}(t) &= \int_{0}^{1} (-C + AP_{1}(t,\beta)) d\beta \cdot e_{1}(t), \\ & t \neq t_{k}, \ k = 1, 2, 3, \cdots, \\ \Delta e_{1}(t) &= B_{2k}e_{2}(t) - B_{1k}e_{1}(t), \ t = t_{k}, \\ e_{1}(t_{0}^{+}) &= e_{10}, \\ \dot{e}_{2}(t) &= \int_{0}^{1} (-C + AP_{2}(t,\beta)) d\beta \cdot e_{2}(t), \\ & t \neq t_{k}, \ k = 1, 2, 3, \cdots, \\ \Delta e_{2}(t) &= B_{3k}e_{3}(t) - B_{2k}e_{2}(t), \ t = t_{k}, \quad (9) \\ e_{2}(t_{0}^{+}) &= e_{20}, \\ & \vdots \\ \dot{e}_{n}(t) &= \int_{0}^{1} (-C + AP_{n}(t,\beta)) d\beta \cdot e_{n}(t), \\ & t \neq t_{k}, \ k = 1, 2, 3, \cdots, \\ \Delta e_{n}(t) &= B_{1k}e_{1}(t) - B_{nk}e_{n}(t), \ t = t_{k}, \\ e_{n}(t_{0}^{+}) &= e_{n0}. \end{split}$$

So the following Corollary is obtained.

Corollary 1 Suppose $0 < \omega_k = t_k - t_{k-1} < \infty$ $(k = 1, 2, \cdots), \gamma_k$ is the largest eigenvalue of $(I + B_k)^T (I + B_k), \lambda(t, \beta)$ is the largest eigenvalue of $P(t, \beta)$, and $\lambda(t, \beta) \leq \alpha$, where α is a positive constant, the impulsive synchronization of Eq.(9) is achieved if there exists a constant $\theta > 1$ such that

$$\ln(\theta\gamma_k) + \alpha \,\omega_k \leqslant 0, \ k = 1, 2, \cdots . \tag{10}$$

Example 1 Consider a typical delayed Hopfield neural networks^[12,14] with two neurons:

$$\dot{x}(t) = -Cx(t) + Af(x(t)) + Bf(x(t-\tau)), (11)$$

where

$$\begin{aligned} x(t) &= (x_1(t), x_2(t))^{\mathrm{T}}, \\ f(x(t)) &= (\tanh(x_1(t)), \tanh(x_2(t)))^{\mathrm{T}}, \\ \tau &= (1) \text{ and } C = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}, \\ A &= \begin{pmatrix} 2.0 & -0.1 \\ -5.0 & 3.0 \end{pmatrix}, B = \begin{pmatrix} -1.5 & -0.1 \\ -0.2 & -2.5 \end{pmatrix}. \end{aligned}$$

It should be noted that the network is actually a chaotic delayed Hopfield neural network.

In system (3), suppose each $y_i (i = 1, 2, \dots, n)$ is x(t) as the system (11) stated. Choose

$$\begin{split} \omega_k &= t_k - t_{k-1} = 0.005, \\ B_{1k} &= \text{diag}\{-(1-0.58)^2, -(1-0.6)^2\}^{\mathrm{T}}, \end{split}$$

 $B_{2k} = \text{diag}\{-(1-0.8), -(1-0.8)\}^{\mathrm{T}}$ $B_{3k} = \text{diag}\{-(1-0.75)^2, -(1-0.56)\}^{\mathrm{T}},\$ $B_{4k} = \text{diag}\{-(1-0.58), -(1-0.6)\}^{\mathrm{T}},\$ $B_{5k} = \text{diag}\{-(1-0.65), -(1-0.48)\}^{\mathrm{T}}$ $B_{6k} = \text{diag}\{-(1-0.57), -(1-0.65)\}^{\mathrm{T}}$ $B_{7k} = \text{diag}\{-(1-0.8), -(1-0.6)\}^{\mathrm{T}},\$ $B_{8k} = \text{diag}\{-(1-0.7), -(1-0.7)\}^{\mathrm{T}},\$ $B_{9k} = B_{10k} = B_{11k} =$ $B_{12k} = B_{13k} = B_{14k} =$ diag $\{-(1-0.8), -(1-0.8)\}^{\mathrm{T}}$. $B_{15k} = B_{16k} = B_{17k} = B_{18k} = B_{19k} =$ $B_{20k} = B_{21k} = B_{22k} = B_{23k} =$ diag $\{-(1-0.6), -(1-0.6)\}^{\mathrm{T}},\$ $r_1 = (34, 4.3, 17, 12.8, 27, 49, 1.2, 2.4, 0.8,$ $9.6, 11, 16, 21, 33, 8, 3)^{\mathrm{T}},$ $r_2 = (-12, -11, -12, 28, 27, 26, 15.4,$ $9, 11, 0.1, 0.3, 0.6)^{\mathrm{T}}$ $21, 17, 19, -1, -2, 8)^{\mathrm{T}},$

respectively. Let the initial conditions be r_1 , $(r_1^{\mathrm{T}}, r_2^{\mathrm{T}})^{\mathrm{T}}$, $(r_1^{\mathrm{T}}, r_2^{\mathrm{T}}, r_3^{\mathrm{T}})^{\mathrm{T}}$, then it can be clearly seen in Fig.1 \sim Fig.3 that the impulsive synchronization is achieved when n = 8, n = 14, n = 23, respectively.



Fig. 1(a) Impulsive synchronization of one-component of each sub-system (n = 8)



Fig. 1(b) Impulsive synchronization of two-component of each sub-system (n = 8)



Fig. 2(a) Impulsive synchronization of one-component of each sub-system (n = 14)



Fig. 2(b) Impulsive synchronization of two-component of each sub-system (n = 14)



Fig. 3(a) Impulsive synchronization of one-component of each sub-system (n = 23)



Fig. 3(b) Impulsive synchronization of two-component of each sub-system (n = 23)



$$\begin{cases} \dot{x} = -10(x - y), \\ \dot{y} = 28x - y - xz, \\ \dot{z} = xy - \frac{8}{3}z. \end{cases}$$
(12)

In system (3), suppose each $y_i (i = 1, 2, \dots, n)$ is $(x(t), y(t), z(t))^{T}$ as system (12) stated. Choose $\omega_k = t_k - t_{k-1} = 0.005,$ $B_{1k} =$ diag $\{-(1-0.58)^2, -(1-0.6)^2, -(1-0.75)^2\}^T$, $B_{2k} =$ diag{-(1-0.58), -(1-0.8), -(1-0.65)}^T, $B_{3k} =$ diag{-(1-0.48), -(1-0.58), -(1-0.58)}^T, $B_{4k} =$ diag{ $-(1-0.28), -(1-0.48)^2, -(1-0.5)$ }^T, $B_{5k} =$ diag{ $-(1-0.48)^2$, -(1-0.78), -(1-0.61)}^T, $B_{6k} =$ diag{-(1-0.58), -(1-0.8), -(1-0.65)}^T, $B_{7k} =$ diag $(-(1-0.48), -(1-0.58), -(1-0.58)\}^{\mathrm{T}}$, $B_{8k} =$ diag{ $-(1-0.28), -(1-0.38)^2, -(1-0.3)$ }^T, $B_{9k} =$ diag{ $-(1-0.68), -(1-0.8)^2, -(1-0.8)$ }^T, $B_{10k} =$ diag{ $-(1-0.78)^2$, $-(1-0.88)^2$, $-(1-0.5)^3$ }^T, $B_{11k} =$ diag{ $-(1-0.68)^3$, $-(1-0.96)^2$, $-(1-0.63)^3$ }^T, $B_{12k} =$ diag{ $-(1-0.58)^2$, $-(1-0.6)^2$, $-(1-0.75)^2$ }^T, $B_{13k} =$ diag{-(1-0.58), -(1-0.8), -(1-0.65)}^T, $B_{14k} =$ diag{-(1-0.48), -(1-0.58), -(1-0.58)}^T, $B_{15k} =$ diag{ $-(1-0.28), -(1-0.48)^2, -(1-0.5)$ }^T, $B_{16k} =$ diag{ $-(1-0.48)^2$, -(1-0.78), -(1-0.6)}^T, $r_1 = (2, -1, -2, 8, 7, 6, 15.4, 9, 11, 0.1,$ $0.3, 0.6, 21, 17, 19)^{\mathrm{T}},$ $r_2 = (-1, -2, 8, 1, 2, 3, 17, 19, 34, 12, 15, 20)^{\mathrm{T}},$ $9, 11, -2.1, 34.8, 12.6, 15, -2, -3, -4)^{\mathrm{T}},$

respectively. Let the initial conditions be $r_1, (r_1^{\mathrm{T}}, r_2^{\mathrm{T}})^{\mathrm{T}}$, $(r_1^{\mathrm{T}}, r_2^{\mathrm{T}}, r_3^{\mathrm{T}})^{\mathrm{T}}$, then it can be clearly seen in Fig.4~ Fig.6 that the impulsive synchronization is achieved when n = 5, n = 9, n = 16, respectively.



Fig. 4(a) Impulsive synchronization of one-component of each sub-system (n = 5)



Fig. 4(b) Impulsive synchronization of two-component of each sub-system (n = 5)



Fig. 4(c) Impulsive synchronization of three-component of each sub-system (n = 5)



Fig. 5(a) Impulsive synchronization of one-component of each sub-system (n = 9)



Fig. 5(b) Impulsive synchronization of two-component of each sub-system (n = 9)



Fig. 5(c) Impulsive synchronization of three-component of each sub-system (n = 9)



Fig. 6(a) Impulsive synchronization of one-component of each sub-system (n = 16)







Fig. 6(c) Impulsive synchronization of three-component of each sub-system (n = 16)

4 Conclusion

Approaches to impulsive synchronization of multichaotic systems have been presented in this paper. Strong properties of global and asymptotic impulsive synchronization have been achieved in a finite number of steps. The techniques have been successfully applied to a typical delayed Hopfield neural networks and Lorenz system. Numerical simulations have verified the effectiveness of the method.

References:

- PECORA L M, CARROLL T L. Synchronization in chaotic systems[J]. *Physical Review Letters*, 1990, 64(8): 821 – 824.
- [2] DENG W H, LÜ J H, LI C P. Stability of N-dimensional linear systems with multiple delayes and application to synchronization[J]. *Journal of Systems Science and Complexity*, 2006, 19(2): 149 – 156.
- [3] ELABBASY E M, AGIZA H N, EL-DESSOKY M M. Global synchronization criterion and adaptive synchronization for new chaotic system[J]. *Chaos, Solitons and Fractals*, 2005, 23(4): 1299 – 1309.
- [4] ZHANG Q L, ZHOU J, ZHANG G. Stability concerning partial variables for a class of time-varying systems and its applications in chaos synchronization[C] //Proceedings of the 24th Chinese Control Conference. Guangzhou: South China University of Technology Press, 2005: 135 – 139.
- [5] ZHANG Q L, JIA G J. Chaos synchronization of morse oscillator via backstepping design[J]. Annals of Differential Equations, 2006, 22(3): 456 – 460.
- [6] ANMAR K, LIU X Z, SHEN X M. Application of impulsive synchronization to communication security[J]. *IEEE Transactions on Circuits* and systems, 2003, 50(3): 341 – 351.
- [7] KAWATA J, NISHIO Y, DEDIEU H, et al. Performance comparison of communication systems using chaos synchronization[J]. *IE-ICE Transactions on Fundamentals of Electronics: Communications and Computer Science*, 1999, 82(7): 1322 – 1328.

- [8] LÜ J H, CHEN G R. A time-varying complex dynamical nerwork model and its controlled synchronization criteria[J]. *IEEE Transactions on Automatic Control*, 2005, 50(6): 841 – 846.
- [9] JIANG G P, CHEN G R, DENG J S. Stabilization of unstable equilibrium of chaotic systems and its applications to Chua's circuit[J]. *Control Theory & Applications*, 2003, 20(5): 758 – 764.
- [10] ZHOU J, LIU Z R, CHEN G R. Dynamics of periodic delayed neural networks[J]. *Neural Networks*, 2004, 17(1): 87 – 101.
- [11] ZHOU J, XIANG L, LIU Z R. Global dynamics of delayed bidirectional associllative memory(BAM) neural networks[J]. Applied Mathematics and Mecjamocs(English edition), 2005, 26(3): 327 – 335.
- [12] XIANG L, ZHOU J, LIU Z. On the asymptotic behavior of Hopfield neural networks with periodic inputs[J]. *Applied Mathematics* and Mecjamocs(English edition), 2002, 23(12): 1367 – 1373.
- [13] ROSKA T, CHUA L O. Cellular neural networks with nonlinear and delay-type template[J]. *International Journal of Circuit Theory and Applications*, 1992, 20(5): 469 – 481.
- [14] GOPALSAMY K, HE X Z. Stability in asymmetric Hopfield nets with transmission delays[J]. *Physica D*, 1994, 76(4): 344 – 358.
- [15] LIU B, REN Y Y, GAO H B. The stability of cellular neural networks with time-varying delay[J]. Signal Processing, 2003, 19(4): 362 – 364.
- [16] GUO D J. Nonlinear Functional Analysis[M]. Jinan: Shandong Science and Technology Press, 2003: 54 – 55.
- [17] SHI B, ZHANG D C, GAI M J. Theory and Applications of Differential Equations[M]. Beijing: National Defense Industry Press, 2005: 145 – 146.
- [18] KUANG J C. Applied Inequalities[M]. Jinan: Shandong Science and Technology Press, 2004: 564 – 570.

ZHANG Qun-li was born in Shandong, China, in August 1975. He received the M.S.degree from Hebei University of Technology, Tianjin, in July 2005. His research interests are stable control of nonlinear systems and chaos synchronization. E-mail: qunli-zhang@126.com.